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3. 7R E Iuv'dx = uv—ju’vdx
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(1) j x"e“dx, I P (x)sin axdx, I P (x)cosaxdx

(ii) j x" In xdx, I x" arcsin xdx, j P, (x)arctan dx

(i) I e cos bxxdx, I e sin bxdx.
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4, je_xz dx, jSinxdx, jsin(xz)dx,

X
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jlnxdx’ _[\/1_:679 I\mdx,

[V1-K%sin>xdx (0<k<1), =-+---
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3. % — s B B T T SO BGR.
(1)~ j fax+bydx = - j f(ax + b)d(ax + b)
a
1
@) [ x" flax" +b)dx =— j f(ax" +b)d(ax" + b)
na

ONE %) dx =2 f(x)dx
X

@[ F L ax=—[ r&ya’
X X X X

(5) j’ £ x)Ldx = j’ f(n x)d In x,
X

jf(alnx+b)ldx=1jf(a1nx+b)d(a1nx+b)
X a
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(6)~ j f(e¥)e dx = j f(e*)de*

j’ fae* +be*dx =1 j f(ae* +b)d(ae” + b)
a

(7 j’ £ (sin x) - cos xdx = j £ (sin x)d sin x
I f(cos x)-sin xdx = — I f(cos x)d cos x

I f(tan x) - sec” xdx = I f(tan x)d tan x

f (arctan X)

1+ x’
f(arcsin x)

\/l—x2

(8)~ dx = I f(arctan x)d arctan x

dx = I f(arcsin x)d arctan x
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4. #b e~ N AL
(1) Itan xdx=—In|cos x |+C;

(2) jcot xdx =In|sinx |+C;
3) Isec xdx =In|secx+tanx|+C;

(5) I 1 2dx=1arctan£+C;
1 1 —
6) [——dv=—-In|=—=
x* —a

(4) Icscxdx= In|cscx—cotx|+C;
2
a” + x a a
|+C;
2a X+a

(7) j\/a - —x = arcsma+C

® | —dx=In|x+x’ta’ |+C.
\/.x +£l
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ljf(x)dx—ln(x+\/x +1)+C, Mf'(x)= \/(x +1)°

iR F(x)=In(x+v1+x2)
f(x)=ln(x+\/1+x2)'=

1

\/1+x2
X

Fi(x)=(x+V1+x2)" =—
\/(x +1)3
2. 1% (o) FSERE Isine, NWERN—NRERELS (B)

(A) x+sinx (B) x-—sinx

(C) x+cosx (D) x-—cosx

@ oo fi(x)=sinx, f(x)=-cosx+C,
F(x)=-sinx+C\x+C, F]&C =1 C,=0 1B
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iR Eh v 273 _ (3)
Eﬁ I32x 22xdx _“1+(§)2xdx
é\u ( ) 9)\IJ X= —lnu’ dx = 1 ldu,
ln— In2-1In3 u
1 1 1 1
* du — d ’
Eat-ve Il+u In2—In3 u ln2—ln3-“1+u2 .
_arctanu . _ arctan(3)”
In2—-In3 In2—-In3

" T 1 dG)
7%‘_‘: )ﬁﬁ _Il+(§)2xdx ln§I1+(§)2x

da* =a* Inadx
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@JB j%“‘1+e)2€+e)3€+e)6€ %ﬁﬁjﬁ
il t=e)6c,)|1ljx=61nt, dX=%dt

sk = 6I d?

A+£ +1° +t)t_6j(t+1)(t2+1)t

=6In¢—31n 7+ I—ZIn(t2 +1)-3arctanz+ C

X

=x—3In(e® + 1)—%ln(e§ +1)—3arctane$ + C
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(x+2-2)e
(x +2)°

—J' *dx —4 —dx+4 c —dx
x+2 (x+2)

_.[ dx - 4Ix+2 +4I(x+2) &

1
=e —4 +4I x+2+4j(x+2)

W B R dx

dx

X+ 2

X+ 2 (x+2)
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= e*dx -

=ex—4jd(
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e dx —4 —dx +4

v =
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'fﬁJS j% J-x+smx dx .

1+ cosx
sin X
dx + dx
ﬁ@ J?ﬁ Il+cosx Il+c0sx
d(14+cosx) 1
=I x dx — I ( )=—Ixsec2£dx—ln‘1+cosx‘
2 y X 1+ cosx 2
COS E
1 ) X Zx X X X X
= T dy= —d(—)= xdtan— =xtan—- | tan—dx
2J‘xsec 2dx jxsec 2) I 5 > >
=xtan£+21n cos£+C
2 2

_[1+Sinxdx :j 1 dx+j sin x d BT R4 u = tan;
3 +cosx J+eosx  ERET
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@JG j% J‘x+Slle dv .

L+cosx =~ @‘&ﬁé\t=tan§
X+ 2sin _cos _
fi# Jﬁﬁ{“ 2 2dx=_“xsec —d(— )+Itan dx
ZCOSZ;

= detang +J‘tan§dx

= xtan§+ C
2
xtan£+21n cosi - ln‘1+ CoS x‘+C =xtan£+21n cosf —1In2 cosZi +C
2 2 2 2 2
= xtan£+21n cosi —In2-2In cosi +C
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BI7 sk [FeosXosIn,, P177 — Ex12

COS X +Sin x

B 4 3cosx—sinx (NSNS
= A(cos x + sin x)+ B(cos x + sin x)’
=(A+ B)cosx+(A— B)sinx

- A+ B=3 B _
ERIIRY | (P =1, B =2

A qcos x + bsin x

= A(ccos x +dsinx)+ B(ccos x + d sinx)’

SEEE TS T j‘acosx+bsinxdxm$;\l%.

ccos x+dsin x .
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A )
sin x COS X
L=| dx R 1, =  dx.
acos x+ bsin x acos x + bsin x
B EN
acos x+ bsin x
caly+bI = | —~dx=x+C,
acos x+ bsin x

COS X —asin .
\bl,—al, = de d(acos x + bsin x)
acos x+ bsin x

=Inacos x + bsin x|+ C,

I = 21 > (bx —alnlacos x + bsin x)) + C
a +b

< 1

I, =5 (ax+blnjacos x + bsin x)) + C
a“ +b
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B9 3R [max{l,x}dx.

r

-x, x<-1

B f(x)=max{l,x}, ] f(x)=4 1,-1<x<]1,

X, x>1

o f(X)fE(—o0,+00) EFESE, NWLFFFEIREREL F(x).

1
—5x2+C1, x<-1

F(x)=1 x+C,, —-1=<x=<1 Y F(x)kbibi&s:, H

1
5x2+C3, x>1

\

lim (x+C,)= lim (—;x2+C1) E

x—>-17 1 x——1"
lim (- x?+C;) = lim (x+ C,)
x—>1t x—>1~

R

]1+C3=1+C2,
2 22
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ﬁf?%cz=;+c, C,=1+C.

r

[i4 Imax{l,\x\}dx = <

\

—1x2+C, x< -1
2
1
x+E+C, -1<x<1.
1 5
Ex +1+C, x>1

1

1

_1+C2=_5+C1’ E+C3=1+C2
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x> 0B

H10 & F(x)RS(O)REREH FO)=1,24
£ f(x)F(x)=sin’2x,F(x)> 0,3 f(x).
i HEWRF'(x)= f(x), W] F(x)F'(x)=sin*2x,

L4 jF(x)F'(X)dx = Isinz 2xdx = jl — c;)s P ix
1 1 1

B —F*(x)==x——sindx+C
I 5 (x) 2x 851n X

- F(0)=1, . C=F*0)=1, X F(x)=0
7afiig F(x):\/x—isin4x+1

. 2
o F(x)= F'(x)= sin” 2x

Jx—Isindx+1
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